
How do pupils in English School ?

We visited 2 English School during our course in Maidstone, in 
April 2017.
We are going to present you a Mathematics apprenticeship. 
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Maidstone is a big town, in Kent, in Southeastern England, just
over 1 hour from London. 
There are 113 000 (one hundred thirteen thousand) inhabitants. 
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We were welcomed in Thurnham Church School by the 
headteacher, Mr James. He explained to us the functionning of his
school. 
Among 4 ranks of English schools, it is one of the best noted : 
OUTSTANDING SCHOOL. 

3



There are three levels in this Infant school, from four to seven years
old, and three classes in each level. 
Each class have thirty pupils. Two or three adults take care of 
pupils : 1 teacher, 1 permanent teacher assistant and 1 other
adult (parent, volonteer …) coming regularly at school to help.

We were hosted in Year 2, CE1 in France. 
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We are going to detail you a session of Maths. The pupils were
gathered in front of the Interactive board, they sit on the floor. 
The mistress presented the Learning Objective : to add 2 digit 
numbers and to make values using different coins. 
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The mistress explained to pupils that they should choose 2 things
and calculate the total.  

John, a pupil, chose 1 hamburger ninety-eight pence. and 1 ice
cream ninety-five pence.
The mistress showed them how they have to combine the numbers.

She showed the model of the approach. 
After, they repeated this approach with others examples. 
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In second part of this session, the mistress proposed them to use 
virtuality coins on the interactive board to make a sum. 
The pupils repeated several times this exercise. 
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In the third part of this session, she proposed on the Interactive 
board, 3 levels of problems about the Learning Objective. 
They made together the 3 problems out of A on the board. 

After the break, they should write on their notebook 1 exercise or 
more. They tried to solve this exercice by remembering what they
have seen before. 

The pupils are in groups of levels.
They could choose one exercise out of A. 
We noticed that the lowest level pupils chose the last exercise, the 
freshest in their memory. Nevertheless, it was not the easiest. 
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Many of them managed to make all the B problems with help to 
adults and the best level pupils ended all the problems out of C.
The lowest level pupils, not remembering totally the approach, 
remained blocked one hour on their problem. 
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Our felt is based only on a short observation. 
We noticed that the education in England seems to be based on the 
modelling and not on the construction of the approach. 
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